E  #= &
OK=L Bk 2 BfE#E [OKY 6-15BKS Eft] 4= (600 x 600 x H1500) 4 &K S=1:30 BEHMBEE 1,296L
FiA BATE F @\ BTHSRE | T-258% 855
FCD500 FCD500
3600 3600 BRI - TR - B AL T BB - TR - B RA T
75 300 795 600 50 600 50 600 50 600 755 300 75 450 700 1300 700 450 650 650
S O | A A )
{‘1 [ ] [}
sl g ‘ ‘ ‘ - ‘ o S 3 kAR
=2 b= ,a B < © ©
‘J l (4 J : ;.3. .E.; g l =
"~ ‘t"‘y kAR— 0% 7% # BOX ol . of .
Ay Y= BEARYT Y k@150 & Ny x>y ‘ 635 Nyxy ‘ 635
YMS-1200 YMK-1200
(K B 4+ #%) - (JEE B 4 %) s "
IE @ 5 i PO VX 1T 1 3 7 1 _ * ]
(6 200BA ) Ev FAR—ILE{TEFEMHE BEARY 7y FEME
2700 750 150 ¥%S=1/10 ¥S=1/10
KARKEDNRME I HKARKEDNRAE I 45
CHBECRE AL, 715 600 50 600 50 600 50 600 15 CHECEEL, 140 470 140 75 600 75 @A vH— b BEAZRY Y Y R
3 3 3 S 3
: : T o & - wme
a o — ~| © 0| ©
~ o > . il R i s
5 § | 5 5 5 [Fﬁ“ BN § @DEY b= sl & sl &
- | -] | o = = . . — —
g [+ [ (7 W IHH} 2 = b %@M*/
s 8 / \%TL 4y = 3 s | 2 8
© Lo © g © Lo o o] o
- = - 275 ‘ / 475 - T2 R o . _ _ A nl-s Ei%m
o o o o \ j\ Bk E oy b (bkig) SME L AEER
s L 5 s i I LN HS=1/T0 %$=1/10
Lo o — S . . 50 ¥ S=
s ST N N S ’ o) D AR 4 ]
= = N = s i AL .
| — T 5 I I < I : N—?\
=) T . T T S T 8}7 = : Egr S z/
© & \ BEKE v b (lEsk#E ) & Jus TSk = %— | 1 - I >
E ® 050 : ﬂ y
450 2700 450 -/
225 225 700 , 1300 , 700 225 225
o = 1 BEmTL— | < ° Ew kA—JL SUS t=1] RO —fE BER REMR SUS t=1.5] [k3& #BOX SUS t=1.2| T-2585 8k F 5|
] 7 o I o —— 300 FCD500
L —1 o ETS
i =1 I aE o K W x g5 303 3H° 25, oqv—EEIvy TEPKBR-BESAT
50 200 50 o i 650
= ‘ ‘ \ZVIR
o { } ~ S \ S
o~ — = o
3 = 160 12-912 S 2 B B =X =
— 125200 (125 I _ s
2 - >
s S
- * 7 4 v — (SUS) 635
o N L
C"_) g o 778
o =2 sEER P
v N p—
N} 2550 (S 600 % 600 x H1500 2200kg 1% (45E)
15 75 N — YNS-1200 (K RRAL4) 533ke 1% (2ER) & | OK=Xif K 55 Bt 48 x 8 & ®| mx
250 ) YMK-1200 (ERR AL ) 533kg 1% (2@st) B OKY6-15BKS J& fi 4:& =t|® &t R
s N += fran ] O [— & T-258: 8% RFH) 40kg 1K e BAESREERBIRGIS £
XHKLEBREY., BERINDIEMIIERIZE ihit"/\./ . e ™ @ﬂk@ **_t‘b'*i 71_ 4 ,7_
HKEY FR—ILZETET HFICIE, EHTEFICTFET I, -5 E Zike 21




